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Detumbling CubeSat 3U with 4 thruster in pyramidal configuration (15° wrt Y)
Detumbling axe Z: duration 5485 s for +10°/s down to 0°/s
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Thruster sequence for Z detumbling:
thruster 1 for 1s level 100% (red)
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then thruster 3 for Is Jevel 86% (green)
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TIME — Thrusters1.0nOf signal[4]

Best model used for almost true operations*: Delay function for 1s, minimum
pulse duration 1s, LimitNb thrusters to 1 thruster simultaneously.used.

Z

"

Draghreas_1

LIBRARY: SATELLITE

FILE: CubeSat15logic.eds

AUTHOR: zKci

DESCRIPTION: CubeSat Active AOCS
CREATION DATE: Sunday, July 27 2014

ErrorAttitude_1

maEs el it Operation constrains:
LogicCmdThr_1 delays; limit number uﬂhslers Statistics_1
.

o —-
| \;f @Cuntrol
\

Thrusters1
MagnetoTorquers_1

o
=3
o

Delay_1 LimitMb_1

*Almost true operations

thrust pulse is just 1 second after the command.

because the thrust F is continuous during 1 second (providing a impulse Fdt in Ns)
providing the same Fdt in the middle of the thrust pulse.
The simulation computes commands to the thrusters and use a delay of 0.5s before the pulse of 1 s, so the middle of the

Hence, for the timing no real discrepancy are expected between this simulation and the true operations.

instead of a very short impulse
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Detumbling axe X after Z: ending at T=7950s from an initial +10°/s down to 0°/s
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Detumbling all axes Z X Y ending at T=9300s for +10°/s down to 0°/s (very low angular rate)
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— LogicCmdThr_1 Switch{1]

=lol=
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Delay_1.DelayON 05
Delay_1.Frequency 4
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Frame1.FlagPerturb 1
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LimitNb_1.durationONEach 1
LogicCmdThr_1.AuthorityRe_. 0.5
LogicCmdThr_1 LimitRate[1]  0.00190385485
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Fine pointing in series after the detumbling
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